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With reference to your application No. for development
permission / grant of Commencement certificate under section 45 & 69 of the the Maharashtra
Regional and Town Planning Act, 1966 to carry,out developement work and or to erect
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building No. — invillage Sector No. Situated
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The development permission / the commencement certificate is granted subject to the following
conditions.
1) The land vacated in consequence of the enforcement of the set back line shall form Part of
the public street.
2) No new building or part thereof shall be occupied or allowed to be occupied or permitted
to be used by any person until occupancy permission has been granted.
3) The development permission / Commencement Certificate shall remain valid for a
period of one year Commenceing from the date of'its issue.
4) This permission does not entitle you to develop the land which does not vest in you.
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WARNING : PLEASE NOTE THAT THE DEVELOPMENT IN
CONTRAVENTION OF THE APPROVED PLANS
AMOUNTS TO COGNASIBLE OFFENCE PUNISHABLE
UNDER THE MAHARASHTRA REGIONAL AND TOWN
PLANNING ACT. 1966
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